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Contact Honeywell

To learn more about the benefits of
Honeywell refrigerants for your next project,
call 1-800-631-8138 or visit

www.honeywell-refrigerants.com.

Honeywell Advanced Materials
115 Tabor Road

Morris Plains, NJ 07950
honeywell-refrigerants.com

G525-712 | August 2017
© 2017 Honeywell International
Inc. Al rights reserved
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PT CHART FOR
SOLSTICE® N13

New Pressure-based Charts
Make Calculating Glide Easier



SOLSTICE® N13 (R-450A)
PRESSURE BASED PT CHART

Temperature Temperature
Pressure (psig) °F Pressure (psig) oF
Avg Bubble Dew Avg Bubble Dew
0.0 -95 -10.1 -9.0 1150 104.0 1034 1046
5.0 2.7 2.1 33 120.0 106.6 106.0 107.1
10.0 127 121 132 1250 109.0 108.5 109.6
15.0 21.1 20.6 21.7 130.0 1114 1109 112.0
20.0 286 28.0 29.2 1350 1138 1132 1143
220 313 30.8 319 140.0 116.1 1155 116.6
24.0 34.0 334 346 145.0 1183 1177 1189
26.0 36.5 359 371 150.0 1205 1199 1210
28.0 389 38.4 395 1550 122.6 122.1 1232
30.0 413 40.7 419 160.0 1247 1241 1252
320 43.6 430 44.2 165.0 126.7 126.2 1273
34.0 458 452 46.4 170.0 128.7 1282 1293
36.0 479 473 485 175.0 130.7 130.2 1312
38.0 50.0 49.4 50.6 180.0 1326 132.1 1332
40.0 520 514 526 185.0 1345 134.0 1350
420 539 534 545 190.0 136.3 13538 136.9
440 55.8 553 56.4 1950 1382 137.6 138.7
46.0 571.7 57.1 58.3 200.0 1399 1394 1405
48.0 59.5 589 60.1 205.0 1417 141.2 142.2
50.0 613 60.7 618 2100 1434 1429 1439
55.0 655 64.9 66.1 215.0 1451 144.6 1456
60.0 69.5 68.9 70.1 220.0 146.8 146.3 1473
70.0 770 76.4 775 230.0 150.0 1495 1505
80.0 83.8 832 84.4 240.0 1532 152.7 153.7
90.0 90.1 89.5 90.6 250.0 156.2 155.7 156.7
100.0 95.9 95.3 96.5 260.0 1592 158.7 159.7
105.0 98.7 98.1 99.3 270.0 162.1 161.6 162.6
110.0 1014 100.8 102.0 280.0 164.9 164.4 165.4
Charge Calculation
Product ASHRAE Number | Refrigerant Type | Refrigerant Class  Lubricant Used* (lk%é H‘%Dg?sg't '
Solstice N13 R-450A Blend HFO/HFC POE 73.1
Genetron 134a R-134a Single Component HFC POE 749

*POE = polyol ester, MO = mineral oil, AB = Alkylbenzene ** Divide by 7.48 to convert to lbs/gal.
tU.S. production stopped Dec. 31, 1995.

When retrofitting a system with a new refrigerant, use this formula to determine amount needed:

Pounds of new refrigerant = Pounds of original refrigerant x density of new refrigerant (at 80°F
density of original refrigerant (at 80° F).

EXAMPLE
Ifyou were using 1,000 pounds of R-134A, you'll need about 1,013 pounds of R-450A, as follows:
Pounds of R-450A=1,000x 74.9=74,900=1,013
739 739

Scantolearn Scanto learn

more about more about
our new PT calculating
Chart. Glide.




